C ‘VQ \

RQO cHonNs

\¢(

XA Cly —2)

CO + & -L-L-g—e
C\ cocl” =

cO +C\” (@





















































































































































































































































































































































































































































































































































































Rdave oFf Pro-v\u t B rmation
FCOC\QI = ‘s = ‘LS ECOC\*] Eﬁ\ﬂ

Net wite Of formarien of achve
i NFormediates

PCOC\‘* = r& - r4 —.Yg
rc\-% — _(_:k——-\f'z-—r:b-\-(q..‘[' (&
22—
PSS H

C coc\
= %—%’/5 €6 =% S W etfs =0
2
2
5 n-fz =0 Ly red =0
= 2




























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































	Problem 9- 5 b

